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a2 PSR SN ERABRAD
Ha: £olo| AUEH
el EEAA & A4 (2 M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
01 At22tcIH] 8,000 8,000 0
O8E=E X & RENES =22 S 8,000
202 O 3,000 3,000
01 20| 3,000 3,000
Oge:=d ol 3,000
207 A=1IHe 27,000 25,000 2,000
03 AIE 22| 27,000 25,000 2,000
O&tl=cl, A% & JINM 72 S 27,000
A - AL s K12 5,000 5,000
201 &gr=2E| 5,000 5,000
01 At22t2IH] 5,000 5,000
O%tal =2 M, &¢8 S s=23t| 5,000
2t ZICAAL WEHI(2D) 40,000 40,000 0
= 20,000
& 20,000
207 A-IHE 40,000 40,000 0
= 20,000
[ 20,000
03 AlE & =H| 40,000 40,000 0
Od Al & JITHH 40,000
= 20,000
= 20,000
XNENFEeY 23 N&(212) 719,793 749,843 A30,050
Il 287,915
= 431,878
201 Zet=2a| 91,793 39,243 52,550
Il 36,715
& 55,078
01 At22telH] 3,793 4,243 A450
ozE8d NFHE el 29 3,793
Il 1,515
= 2,278
2 S22l 88,000 35,000 53,000
OBL3 A7AIE 2g € dud 83,000
) 35,200
S 52,800
202 Ol 3,000 10,600 AT7,600
Il 1,200
[ 1,800
01 =Gl 3,000 10,600 AT7,600
OXNGHEBIHEY FRFA 3,000
Il 1,200
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A2 PSR 24 PSR
Ha: £olo| AUEH
2l E-IAN E AL (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 1,800
207 A0 | 625,000 700,000 275,000
| 250,000
& 375,000
03 Al&l 2| 625,000 700,000 AT75,000
O&IAISF L DJIAH & 600,000
| 240,000
& 360,000
O&E&dl 23uAd ¥ =al 25,000
| 10,000
& 15,000
KNS HENCHHEH XSHEH S X2 (=1) 225,000 750,000 A525,000
| 90,000
& 135,000
405 KHoHE SHI 225,000 750,000 A525,000
J| 90,000
& 135,000
01 ML SEFSHI 225,000 750,000 A525,000
OAEESZ A 14,500
| 5,800
= 8,700
O24M= 5,000
| 2,000
== 3,000
©uEIIED| 1,750
| 700
& 1,050
odsn 20,000
| 8,000
= 12,000
O=AZTIE | (Rocker ) 750
| 300
== 450
OZ CrARYUHOI&EAIAE 28,500
| 11,400
= 17,100
ORE XS ZEI|(Conventional PCR) 52,000
| 20,800
< 31,200
O HASHEXI 16,000
| 6,400
& 9,600
OMSOIME A Y 14,000
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A2 PSR 24 PSR
Ha: £olo| AUEH
2l E-IAN E AL (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
J| 5,600
& 8,400
OZESAAHMEISI] 21,600
| 8,640
= 12,960
O as A=)l 42,400
| 16,960
& 25,440
OZ W[ (Thermomixer ) 8,500
| 3,400
& 5,100
AEZGEY IS ¥ o3P 2,735,750 623,750 2,112,000
= 2,175,000
| 42,875
& 517,875
Hed 0|M2 EolXlc 64,000 64,000 0
202 04| 1,000 1,000
01 =WO4HI 1,000 1,000
Og3d D= SoldH HRFX 1,000
207 AN 63,000 63,000
03 Al& 2| 63,000 63,000
OAlF ¥ JITHH L, HHl=el S 63,000
MBHHUS AEA HERD 29 XA(=21) 25,750 25,750 0
| 12,875
& 12,875
202 04dl 1,000 1,000 0
J| 500
& 500
01 =WHO4bI 1,000 1,000 0
OMSHIA HE HRFX 1,000
I 500
= 500
207 A IHEH| 24,750 24,750 0
| 12,375
& 12,375
03 Al&l 2| 24,750 24,750 0
OAlSF & I 7 S 14,000
| 7,000
& 7,000
OMZEHAUEl HIS=E 7 10,750
| 5,375
= 5,375
HSEIIZEST ZAY 2E(=1) 60,000 33,000 27,000
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A2 PSR 24 PSR
Hu: £olo| AYEH
ol EZEE Uis & A+ (2 M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
J| 30,000
& 30,000
207 AR 60,000 33,000 27,000
| 30,000
& 30,000
03 AlE 2| 60,000 33,000 27,000
OAlSt & IR 2 S 60,000
| 30,000
< 30,000
IZLH9 S AESZEE U2 386,000 501,000 115,000
201 LEr2AH| 2,000 1,000 1,000
01 AtR2telt| 2,000 1,000 1,000
OAEREE 72 = 2,000
202 o4t 4,000 4,000
01 =WHO4HI 4,000 4,000
oZgY JBUS &5 S 4,000
207 AN | 200,000 500,000 A300,000
03 AlE 2| 200,000 500,000 A300,000
OAlSE & IR 7 S 200,000
405 XHoHRSHI 180,000 180,000
01 &L S SFSHI 180,000 180,000
AANARENSZED| 150,000
ORAZ2IDI 30,000
D2LH9 HHAE XA (=1) 2,150,000 0 2,150,000
= 2,150,000
207 AR 2,150,000 0 2,150,000
= 2,150,000
03 A& 22H| 2,150,000 0 2,150,000
OAlSF & IRt 2 2,150,000
= 2,150,000
M2 SsZAIMHA 2E(G=2A)(=2) 50,000 0 50,000
= 25,000
< 25,000
202 Ot 4,000 0 4,000
= 2,000
== 2,000
01 =LH4H| 4,000 0 4,000
OAIZIF & HRFX 4,000
= 2,000
< 2,000
207 AN 46,000 0 46,000
= 23,000
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A2 PSR 24 PSR
Hu: £olo| AYEH
ol EZEE Uis & A+ (2 M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 23,000
03 Al&E & 2H| 46,000 0 46,000
OAlIF & IRt 2 46,000
= 23,000
o= 23,000
ZEEAC o Ast AR 297,226 251,940 45,286
| 71,763
& 225,463
=d 289 M & ASERAL 96,600 64,750 31,850
201 et 3| 2,200 2,200 0
01 AtR2eltl 2,200 2,200 0
OUMHZE, ZAtZ, AIREE 2L 2,200
202 04| 2,400 2,550 A150
01 =WHO4HI 2,400 2,550 A150
OIS XZAL & HH=+=H S 2,400
207 AR | 47,000 44,000 3,000
03 Al&l 2| 47,000 44,000 3,000
O&FH|=2l, & Al2F L IIXH 2L 47,000
405 KHHESH| 45,000 16,000 29,000
01 ML SEFSHI 45,000 16,000 29,000
OCIAHA 40,000
OFaz=p] 2,500
OStMESZEHAD(EED1D]) 2,500
014 - AZ0OH 2gY 2AY 2E(=1) 27,300 27,300 0
| 13,650
= 13,650
207 AR 27,300 27,300 0
| 13,650
& 13,650
03 AlE 22| 27,300 27,300 0
O&bl=xal, A L I 7 27,300
| 13,650
< 13,650
oiol= & A9 AEA X (=3D) 37,300 31,700 5,600
| 18,650
& 18,650
202 odd| 400 400 0
| 200
= 200
01 =WHO4HI 400 400 0
OYRF& ol 400
| 200
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A2 PSR 24 PSR
Ha: ©olo| AYEH
ChSl: AAMACH 9 o4t 017 CERE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 200
207 A0 | 36,900 31,300 5,600
| 18,450
& 18,450
03 Al&l 2| 36,900 31,300 5,600
O&FHl=2l, MEAIF & IR 2 36,900
J| 18,450
& 18,450
C2HI0IHA THE =0 A8 2AY 29(=1) 30,000 30,000 0
| 9,000
= 21,000
207 AN 30,000 30,000 0
| 9,000
== 21,000
03 Al& 2| 30,000 30,000 0
O&bdl=al, MEAI 2 I 2 30,000
| 9,000
& 21,000
Z& oI HE20F 2HIHAH(=1) 60,926 59,190 1,736
| 30,463
= 30,463
207 AN 60,926 59,190 1,736
| 30,463
= 30,463
03 Al& & 2H| 60,926 59,190 1,736
O&bl=xal, MEAIY L I 2 60,926
| 30,463
o= 30,463
S L ST e AEIAL 45,100 39,000 6,100
201 L2 AY| 17,100 13,000 4,100
01 ArR2eltl 17,100 13,000 4,100
FEX GIINME L NS 24 =2 8,000
OMST 24 =3 9,100
202 Odt| 3,000 3,000
01 =04 3,000 3,000
OAlZ MH s gRFH 3,000
207 AR | 25,000 23,000 2,000
03 Al&l 2| 25,000 23,000 2,000
OAlSt L I 2 S 25,000
Z2S oA™Y HA 522,020 124,420 397,600
= 157,960
& 364,060
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A2 PSR 24 PSR
Ha: ©olo| AUEH
ChSl: OIMZ OHEA FAL CERE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 1,000
& 1,500
207 AN 59,408 59,408 0
= 23,763
= 35,645
03 Al& &I 59,408 59,408 0
OAlZ L JIXHM e 54,000
= 21,600
== 32,400
oA i FFuM ¥ =2 5,408
= 2,163
& 3,245
RS otdae|(=21) 9,000 9,000 0
= 9,000
207 AR 9,000 9,000 0
s 9,000
03 A& 2| 9,000 9,000 0
OAlZ L DIXHM e 9,000
s 9,000
C2HI0IH A ZHAIRIA ALY THZ28I(=2) 15,405 15,405 0
= 6,162
< 9,243
207 AN 15,405 15,405 0
= 6,162
== 9,243
03 Al& 2| 15,405 15,405 0
OAlI & IRt 2 14,000
= 5,600
& 8,400
O&EZdl 23nA L =2l 1,405
= 562
= 843
HMERSHH SEXHSAZ ZA 23,000 30,500 7,500
207 AN 23,000 20,000 3,000
03 A& 2| 23,000 20,000 3,000
OAl 2 IRt 2 23,000
olfZ S ot A ZHAL 460,280 278,000 182,280
= 30,000
& 430,280
o|orE OHEA AL 230,280 63,000 167,280
101 1A H| 21,280 0 21,280
M IRIMZ2ENSES 21,280 0 21,280
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SR

1,394,060

PABAA TR SRR
LoIo] AL S
SO A o 4 oiF =g Crol:mel)
2. 24 - BB O(B) - NIRAIY - BAS Ofl ko i fimE==t
202 o4 2,200 2,200
01 =WOdHI 2,200 2,200
OAlE S A ZAH HRFX 2,200
207 AN | 53,500 50,000 3,500
03 Al& 2| 53,500 50,000 3,500
OAlSF & DX+, Zbl=2l & 53,500
SENH H==5 &4 A 254,500 333,000 AT78,500
202 Odd| 5,500 5,500 0
01 =i b 5,500 5,500 0
H=s S UL HA 5,500
207 AR 58,000 57,500 500
03 AlE 2| 58,000 57,500 500
OAlISF & JIRH=L, HHl=el S 48,000
O&FZIII| 24E JtA 10,000
405 RHeHRSHI 191,000 270,000 279,000
01 AL S SF SHI 191,000 270,000 AT79,000
OINAIAZOIEDNE HHE2AI|(GC/MS) 165,000
OREEEAAEXI(UPS) 26,000
Sofor 29y HEHH 29 290,970 477,484 A186,514
28y AE Y AR 90,970 77,484 13,486
101 eI24t| 23,870 0 23,870
M JI2tH22 S8 23,870 0 23,870
QJIIZ2HHIZ 2 At 21| 23,870
201 LBer2 | 1,000 1,000
01 At22telt| 1,000 1,000
OMRESZ 78 = 1,000
202 Ot 3,000 2,000 1,000
01 =W 0dbI 3,000 2,000 1,000
OZZY A Y HARAAL FA 3,000
207 AN 60,000 60,000
03 AlE 2| 60,000 60,000
OAl2F & DJIXH #, Zbl=2l & 60,000
405 RHeHRSHI 3,100 14,484 211,384
01 A S SF SHI 3,100 14,484 A11,384
OAES0IAIE D] 3,100
TELHI AISHAL 200,000 400,000 A200,000
207 AR 200,000 400,000 A200,000
03 Al& 2| 200,000 400,000 A200,000
OAlI & DRt 2 200,000
getd 2E 1,659,060 2,491,453 A832,393
265,000




PAEH
Noigy 2=
ot & Sa% E 2H QM)
2 2A B BH(EH) - HRA ofl &t i HIDEZ
& H sS4 =2 2H 319,000 385,000 66,000
= 127,500
S 191,500
ot ¥ S = 2e) 40,000 188,000 148,000
201 Ler2a| 1,000 1,000 0
01 At2tcltl 1,000 1,000 0
ONRES 78 8 1,000
202 O 10,000 10,000
01 =LA b 10,000 10,000
Ootd, Saa A 10,000
207 A E 29,000 27,000 2,000
R EEET 29,000 27,000 2,000
OAI% W IIXHH 7 19,000
OBHILERH % &2 10,000
SBA20F NE2AS 2HE N 200,000 174,000 26,000
(22)
= 100,000
= 100,000
201 egr=2E| 22,000 24,000 /2,000
= 11,000
= 11,000
01 AF22t2IH] 22,000 24,000 22,000
O=H=dz A& 15,000
= 7,500
S 7,500
(OFSPNISEERE 3,000
= 1,500
[ 1,500
O== AM, S=2&It 4,000
= 2,000
= 2,000
202 O 8,000 8,000 0
= 4,000
= 4,000
01 20| 8,000 8,000 0
OB ZO0F Mg 2= 8,000
= 4,000
S 4,000
207 A1IHE 170,000 142,000 28,000
= 85,000
= 85,000
03 Al &=t 170,000 142,000 28,000
OAlZF & JIXH 2 120,000




MR PASHD S EAEe
M fAsy 9=
¢l ot Y SA 23 BN (chel: &)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 60,000
& 60,000
OAEg&EHl =2l ¥ =Xl 50,000
= 25,000
= 25,000
SH20F ABZAS 2HE HE IS nEA (I 55,000 55,000
)(=1)
= 27,500
& 27,500
405 RHoHESHI 55,000 55,000
= 27,500
& 27,500
01 AR ESFSHI 55,000 55,000
OX2HiI1(B0D Incubator) 12,000
= 6,000
< 6,000
OFUE E=4A(00) SHD 2,500
= 1,250
< 1,250
O4! 24 (Quanti-Tray Sealer PLUS) 14,000
= 7,000
& 7,000
oAlz=E2 HED 3,600
= 1,800
< 1,800
OF=9) 6,000
= 3,000
& 3,000
QCD &2 1,100
= 550
= 550
©BD &7 700
= 350
< 350
OraE ) 2,000
= 1,000
= 1,000
o282 5,000
= 2,500
= 2,500
©OHCHO, TVOCs JtAAIZ THE DI 8,100
= 4,050
& 4,050
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AR BASAAR 2N BAsEA2
HH: dsd B
Hel: ol ¥ sS4 3 2H (2 M)
A= - 2A - ZH - SRA(3) - MRAY - B85 Off &teH %E% HwE2
FAESHSET MK ==z 24,000 23,000 1,000
202 Odd| 4,000 3,000 1,000
01 ZLHA LI 4,000 3,000 1,000
O=+Z2UHE ARFH 4,000
207 AN 20,000 20,000
03 Al A 2| 20,000 20,000
OAl Y JITHH 7 S 20,000
== otEd 2el 363,800 451,550 ANB7,750
Y=g M4 ZALZ Jis A 363,800 451,550 AN87,750
201 eS| 500 450 50
01 AFR22eltl 500 450 50
OMREE 7Y S 500
202 Odd| 6,000 6,000
01 ZLHA LI 6,000 6,000
OYH=2 ¥y At HRFX 6,000
207 AN E| 77,300 65,100 12,200
03 Al A 2| 77,300 65,100 12,200
OAS L JIXH 2 10,000
OAEEH 2EnAM & = 25,300
(OFS}=-R=p) EEell 42,000
405 KHAHE S| 280,000 380,000 100,000
01 XAt S SFH S 280,000 380,000 100,000
©JIX 2 20FE 12411 (GC/NPD, ECD) 80,000
OJIMIA20FE DT HE2AII(GC/MS) 200,000
12 23t 174,000 133,000 41,000
CHOIEHE & AHBA 174,000 133,000 41,000
202 (48| 15,000 15,000 0
01 2LHOIBI 15,000 15,000 0
OUDILEE AA S PRFX 15,000
207 AN 19,000 18,000 1,000
03 AlE & 2H| 19,000 18,000 1,000
OHZEIIA, Al & I +€ 15,000
OZFYEFII| 22 uH ¥ =2l 4,000
405 KHAHH SH] 140,000 100,000 40,000
01 AL = SF =H| 140,000 100,000 40,000
OINAAZ0HE D = (GC-FPD) 140,000
CHOIE EOt 2el 561,520 490,220 71,300
= 137,500
< 424,020
WIEERUIRE2A 51,720 108,720 57,000
201 LBt Ad| 24,220 63,220 A39,000
01 AFR2teltl 2,500 2,500 0
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CHOIE &Eot 2t (EEREED
AR 2N - FB . o9(3) i HimE==
OUIIZ Bt 210N 2,500
02 S324| 21,720 60,720 239,000
OUIIL2E0ISEEAIA 13,920
OMIILIEAEN =it 7,800
202 04| 12,000 12,000
01 =WHO4HI 12,000 12,000
OUIILEEHY 2% o 12,000
207 A0 15,500 15,500
03 Al& 2| 15,500 15,500
OAI% Y I 15,500
AHZIIE A 51,500 20,700 30,800
202 04| 11,000 10,200 800
01 =Bl 11,000 10,200 800
OAHZIIE QEE HA 11,000
207 AN 10,500 10,500
03 A& & 2HI 10,500 10,500
O&FHI2l, Al & D 10,500
405 KR SH| 30,000 0 30,000
01 AR ESHSHI 30,000 0 30,000
Oct==3J| 7 30,000
D129y =3 7529(22)( 80,000 80,000 0
= 40,000
= 40,000
405 KHAHE SHI 80,000 80,000 0
= 40,000
< 40,000
01 MR =SFSHI 80,000 80,000 0
ouIE2s SFHY) 80,000
= 40,000
& 40,000
WEExY 2ER2G (I 97,500 0 97,500
= 97,500
403 XIS MSAH=01 A 97,500 0 97,500
= 97,500
01 XISH 2L 97,500 0 97,500
OZATIIZEL & X 97,500
= 97,500
SAHIIEES 29 X2 280,800 280,800
308 REXISHMSOIH 280,800 280,800
01 AXIEHBAEES 280,800 280,800
OZANUIIEZHA 2 280,800
MEHEHE JH 113,540 84,483 29,057
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A EB . GRS - NIRAE - BES i HIDEZ
2B0IM= A 56,370 27,180 29,190
101 el24b] 26,770 0 26,770
M IRINZZ2NSES 26,770 0 26,770
OJI12ZtMZ22 X+ 2121 26,770
202 O 1,800 1,280 520
01 =LHAbI 1,800 1,280 520
OstZ0ld= Alg3 AL 2RFA 1,800
207 A=1IHE 27,800 25,900 1,900
03 AlIZ &I 27,800 25,900 1,900
OAlSF & JIXHH & 27,800
e =4 2 e A2H A 40,670 41,803 1,133
101 @124d] 26,770 28,803 2,033
M IRNZ2Z2SE 26,770 28,803 N2,033
OJIZtHZ22 X+ 12| 26,770
201 LEr2E | 500 500
01 At22telt| 500 500
OMEESE 78 S 500
202 04| 5,000 4,600 400
01 ZLHA I 5,000 4,600 400
O=dE AAE A BRFN 5,000
207 A-IHE 8,400 7,900 500
03 Al -2H| 8,400 7,900 500
OAl%F & DI+ 8,400
S22 SXx4 dAedets 24 16,500 15,500 1,000
207 A-IHE 16,500 15,500 1,000
03 Alg &=t 16,500 15,500 1,000
OAlIF & JIXHH +E 16,500
2 HII=Z 2 32,000 218,000 186,000
& 2 HIIZE ST A 32,000 218,000 186,000
202 04| 5,000 5,000 0
01 =ZLHOHI 5,000 5,000 0
OHYIZ & E2 NS 5,000
207 ST 27,000 25,000 2,000
03 Al 2H| 27,000 25,000 2,000
OAlISt & JIXHN 2 23,000
O=3dHl FSUA & = 4,000
l+= & ot 2F T 2t 44,200 410,700 366,500
= A ot 2EE ZA 44,200 410,700 366,500
202 044l 4,200 4,200 0
01 =W Al 4,200 4,200 0
OHl+= & ot 2T SA FRFA 4,200
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a2 PSRN SN ERABRAD
M qost BE
BHel: H ¥ ot 2T 22 (2 M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
207 A E 40,000 34,500 5,500
03 A& 3=t 40,000 34,500 5,500
OAlef & JIXHH & 20,000
Odgdtl FSUAM H = 20,000
BHE RGN 22 51,000 318,500 A267,500
Oel0l 25 =2t &g e d got 35,000 302,500 A267,500
201 eEr=2E| 1,000 0 1,000
01 AtR2teld| 1,000 0 1,000
OMEESE 78 S 1,000
202 04l 4,000 4,000
01 2LHOIHI 4,000 4,000
QO0lel0| 282t stE XA gexd 4,000
207 SRl 30,000 18,500 11,500
03 Alg &2t 30,000 18,500 11,500
OAI2F & JIXHH & 30,000
HEEE PIoOHRIAF AL 16,000 16,000
202 04| 5,000 5,000
01 =W Al 5,000 5,000
OUESHZRAHAUX ZAF FRFE 5,000
207 AIHE 11,000 11,000
03 Alg &2t 11,000 11,000
OAlS & JIXHH =& 11,000
HH2EGH(EHSHZATY) 9,298,150 9,063,361 234,789
= 26,577
= 1,476
l 66,133
= 9,203,964
g agesta 8,980,741 8,767,208 213,533
= 26,577
= 1,476
Il 66,133
= 8,886,555
SR o2dl X 7,907,564 7,730,545 177,019
101 @l24d| 7,606,304 7,489,225 147,079
01 2% 7,606,304 7,290,412 315,892
o=¥ 6,679,250
== 5,048,547
-—ASH 1,797,579
-3sdE 92,501,160 *1& 92,502
4= 96,463,680 *1H 96,464
58 6,427,6302x1+12& 77,132
o2t 6,381, 1702 ~20E 122 1,531,481
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a2 PSR SN ERABRAD
I FHSAAY|(FABZHT)
el I E2al (e M2
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
-SSH 3,250,968
6= 3,056,5303x 1~ 123 36,679
= 3,169,780& x5~ 123 190,187
= 2,492,810« 1H= 122 29,914
= 1,803,330 x3 122 64,920
AAL 3,061,320 «80H 122 2,929,268
Ood2=¢ 270,913, 8303 *50%+23 270,914
OE=g 57,600
- <Xt 40,0002 60 122 28,800
-F LIS 20,0002 x120E « 122 28,800
Odz2rts 54,600
-250( & 130,000 x5~ 123 7,800
—20~250] 8t 110,000« 102 =122 13,200
-15~20=2 08¢ 80,0002 x15 =122 14,400
-10~15= 0]+ 60,0002 «10~ 122 7,200
-5~10=2 018+ 50,0002 =20~ 123 12,000
Ooflgae=g 57,600
=35 57,600
A2 50,0002 x16~ 122 9,600
AAL 50,0002 ~80& 123 48,000
oessa+<
3,010, 1542308 *4. 1%+ 122 44,430
oRgs=asd 50,0002 +5& x 122 3,000
OS+g2+d 113,520
-Jled=2sd 1,920
SdAE 40,0002 x4~ 123 1,920
-HAAYRE 80,0002 x08H * 12& 94,080
-HRYR+G JRta
60,0002 1~ 122 720
-SRAPE 100,000 « 132« 122 15,600
Sedfsd 50,0003 x2& x 122 1,200
OAlte22+E
12,0002 x 1062 2541 2t 123 381,600
OdHZAHI 140,000&x111E~12& 186,480
OE &=l 270,913,830 *60%*22] 325,097
O ItZ 4| 135,862
-CISM(2E, 2&)
176,9652 x6& 12 12,742
-HISHI(2HE) 146,684 x 178« 12& 29,924
-2 3Kl 86,2022 x00 ~ 12& 93,19%6
Os=AH 927,054
O== 704,587
-HSH(HR2) 101,572,440 2 203,145
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AR BABAA D SN BAEHR
I FHSAAY|(FABZHT)
chel: ol 2g| CERE)
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
= 501,442
= 3,945,210 2+ 128 94,686
= 2,041,460 «1H =122 24,498
A 3,185,480 x10& 128 382,258
odz2=¢ 40,206,070 »50%*22] 40,207
OJ&E=g 7,200
BN} 40,0002 «10H*12& 4,800
-FYE 20,0002 +10F+ 128 2,400
O&EZ = 8,040
-25E0] & 130,000& x1&*12& 1,560
-15~20=2 0/t 80,0002 x1&* 123 960
-10~150]¢* 60,0002 x1& 122 720
-5~10= 012+ 50,0008« 122 4,800
ORg=2!+4 6,600
=35 6,600
oAt 50,0002 x 18+ 122 600
A 50,0002« 102+ 12& 6,000
otizs=a+4
3,991,870 284 1%+ 12& 3,929
OS=+g2+d 17,520
-Jled=2sg 40,0008 x18~12& 480
-SRI 80,0002+~ 122 8,640
S 100,000 x5S * 122 6,000
Q2R 50,0003 x4 *12& 2,400
OAlZRZ25E
12,0003 x 13 +25A| 2+ 122 46,800
OZA=AHI 140,000 x 152 = 12& 25,200
OgZ =l 40,206,070 »60%*22] 48,248
Ot 4| 18,723
-ASH 52 203,822 x2H12& 4,892
-SSH 88,6602 x 132+ 12 13,831
204 MR AH| 301,260 271,320 29,940
02 M2l 301,260 271,320 29,940
o= 268,440
ogery 27,240
=] 400,000 ~1H« 122 4,800
5= 250,000 « 1= 12& 3,000
= 175,0002 x 18 x 122 2,100
= 165,000& x5~ 12& 9,900
-82 155,000 « 1= 122 1,860
= 155,000 «3Z* 12& 5,580
O+ 241,200
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A EB . GRS - NIRAE - BES ofl &t i HIDEZ
- 73,200
= 4g(2F)
500,0002 x1&+12& 6,000
d4e(2RF)
400,000 *4H* 122 19,200
4 (Uy)
250,000 x16E~12& 48,000
175,0002 802~ 12& 168,000
32,820
5,820
165,000 x2& 122 3,960
185,000 x 18~ 12 1,860
27,000
6,000
g (y)
250,000 «2H =122 6,000
175,000 x102 ~ 122 21,000
& 681,942 666,610 16,332
619,179 604,081 15,098
SA(RIA )22 N2+ 619,179 604,081 15,098
546,160
OJlzs 2,150,000 x16H*12& 412,800
od2=+g 2,150,000 x25%* 16 & »22] 17,200
OURRIENLY
75,0002 x162*12& 14,400
OE &=l 2,150,000 x60%* 16 x22] 41,280
Oa4| 140,000 x 162~ 122 26,880
OusH] 100,000 x 162 =122 19,200
OJtE+g 14,400
-FHE 60,0002 20 *12& 14,400
(©I=E ONE 73,019
oJl=3 2,086,330 x224* 122 54,872
on24+g 2,286, 3302 40022 x23] 3,659
OURRERILY
75,0002 x2S x 12 1,800
OE&FItl 2,286, 3302 602 x23] 5,488
Oa4itl 140,000 x2& 122 3,360
Ou sl 100,000& x2&*12& 2,400
OJ= 60,0003 =2~ 122 1,440
M A=FE=SS 62,763 62,529 234
04 SR (RIH)22N BEHSRES S 62,763 13,155 49,608
o=gs(=2d) 20,640
O=eA=(SENY) 2,744
Oo=eALEEH (=) 23,104
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